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Kjyhk; thuk; 

 

    

  

   

  

 

rjtPjk; 

 

1. rjtPjkhf fhl;Lf.  
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2.  

i) 0.25                    ii)    0.75                          iii)    0.15                           iv)   0.60 

 

3. rjtPjkhf fhl;Lf. 
 
cjhuzk; 
1. & 500 ,y; & 50 

 

   
50

500
  x 100 =  

50

5ϕϕ
 x 1ϕϕ 

                            = 10% 

 

gapw;rp 

i) & 800 ,y; & 80  
ii) & 2 ,y; 25 rjk; 
iii) 3 m ,y; 60 cm  
iv) 1 Kg ,y; 25g 
v) 1 l ,y; 250 ml 
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4. ngWkhdk; fhz;f. 
 
cjhuzk; 
& 500 ,d; 20% 

 
20

100
  x 500 = 

20

1ϕϕ
  x 5ϕϕ 

                 = & 100 

gapw;rp 
i. & 100 ,d; 25% 

ii. 1 Km ,y; 15 % 

iii. 24 kzp ,y;; 12.5% 

iv. 3 Kg ,d; 15 % 

v. 1.5 l ,d; 15% 

tup 

   ,iw tup         jPu;it tup/ Rq;f tup        tUkhd tup 

 ,iw tup 

khefurig, efurig, gpuNjr rig vDk; cs;Suhl;rp kd;wq;fspd; %yk; jdJ 
tuk;gpDs;Ns tjpgu;fSf;F mwtplg;gLk; tup 

,t;tupia xNu jlitapy; (Xuhz;L tup) my;yJ %d;W khjq;fSf;F xU jlit 
(fhyhz;L tup) nrYj;jyhk;. 

cjhuzk; 1 

xU efurig jdJ mjpfhu tuk;gpDs;Ns ,Uf;Fk; Mz;Lg; ngWkhdk; & 42 000vd 
kjpg;gplg;gl;Ls;s xU tPl;bw;F 6%Mz;L ,iwtupia mwtpLkhapd; xU fhyhz;Lf;fhd 
,iwtupiaf; fhz;f  

     Mz;L ,iw tup = 
6

100
 x 42 000 

                                       = 
6

1𝜙𝜙
 x 42 0ϕϕ 

                             = & 2520 

       fhyhz;Lf;fhd tup = 2520 ÷ 4 

                                       = & 630 
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cjhuzk; 2 

4% Mz;L ,iwtupia mwtpLk; khefurig vy;iyf;Fs;Ns ,Uf;Fk; xU rpw;Wz;br; 
rhiyf;F fhyhz;L ,iwtup & 600 vdpd; Mz;Lgl ngWkhdj;ijf; fhz;f. 

    Kiw 1  

                     fhyhz;L ,iw tup = & 600 

      / Mz;Lf;fhd ,iw tup = 600 x 4  

                                                      = & 2400 

         / Mz;Lg; ngWkhdk; = 
100

4
 x 2400 

                                                       = & 60 000 

         Kiw 2 

         
100

4
 x ϰ  = 2400 

                            4 ϰ = 2400 x 100 

                              
4ϰ

4
 = 

2400       100 

4
 

                       ϰ   = 600 x 100 

                                    = & 60 000 

gapw;rp 1 

1. Mz;L ngWkhdk; & 20 000 vd kjpg;gplg;gl;Ls;s xU tPl;bw;F cupa 
cs;Suhl;rp kd;wk; 4% tupia mwtpLnkdpd; Xuhz;Lf;fhd tupiaf;fhz;f. 
 

2. 5% ,iwtupia mwtpLk; khefu rig vy;iyf;Fs;Ns ,Uf;Fk; fil xd;Wf;F 
fhyhz;L tup & 240 vdpd; mt; tPl;Lf;fhd Mz;Lg; ngWkhdj;ijf; fhz;f. 
 
 

3. Mz;Lg; ngWkhdk; & 32 000 MfTs;s tPnlhd;Wf;F fhyhz;L tupahf & 320 

nrYj;j Ntz;Lnkdpd; Mz;L tupr; rjtPjj;ijf; fhz;f. 
 

4. ghlEhy; gapw;rp 14.1 ( 1 - 5 tiuahd tpdhf;fs;) 
 
 

                        

 

600 


